RN FERLARLAEMEE (815) REFERAURBRE [0,
SHM6FE4A1B~SM 753 A31H
RIERT4 e e
Foana [Wooromn 000 155 om |BLADoTY [BLADsT
HETA & #(N) BHEN) BHEN)
BEHTREM 1,319 1,181 0 0 89.5 89.5
el 1,319 1,181 0 0 89.5 89.5
b A RER 51 48 0 0 94.1 94.1
R HET 33 33 0 0 100.0 100.0
4 R ET 3 7 0 0 233.3 233.3
ZE@AF 7 4 0 0 57.1 57.1
5%+ BT 8 4 0 0 50.0 50.0
shRTER R 1,366 1,277 0 0 93.5 93.5
shETTH 842 814 0 0 96.7 96.7
2R 150 139 0 0 92.7 92.7
E)H 161 146 0 0 90.7 90.7
75 B EH 8 8 0 0 100.0 100.0
e iy ET 91 83 0 0 91.2 91.2
KESHT 25 18 0 0 72.0 72.0
HEEEH 39 26 0 0 66.7 66.7
R HNET 50 43 0 0 86.0 86.0
I\FEH&REm 1,166 1,074 0 0 92.1 92.1
J\F T 1,166 1,074 0 0 92.1 92.1
=R A RER 431 401 0 0 93.0 93.0
BULHEHT 204 184 0 0 90.2 90.2
= FH 33 27 0 0 81.8 81.8
R FHT 54 56 0 0 103.7 103.7
HFHT 20 20 0 0 100.0 100.0
FE BRET 71 61 0 0 85.9 85.9
B _E BT 47 50 0 0 106.4 106.4
AT 2 3 0 0 150.0 150.0
E AT R EFR 410 414 0 0 101.0 101.0
HFRIRET 202 194 0 0 96.0 96.0
DS 114 114 0 0 100.0 100.0
84 iR ET 13 16 0 0 123.1 123.1
ZRIHET 16 17 0 0 106.3 106.3
5 FH T 39 42 0 0 107.7 107.7
th ;R ET 26 31 0 0 119.2 119.2
E+=FEm 787 695 0 0 88.3 88.3
+FBAH 283 220 0 0 71.7 71.7
=R 222 215 0 0 96.8 96.8
87100 th BT 46 33 0 0 71.7 71.7
asy=1:]] 44 40 0 0 90.9 90.9
AVl 59 53 0 0 89.8 89.8
1 JECHT 13 18 0 0 138.5 1385
5di) 69 60 0 0 87.0 87.0
7Ny AT 51 56 0 0 109.8 109.8
ODOBREAT 261 241 0 0 92.3 92.3
G Y] 212 188 0 0 88.7 88.7
yNEilil) 27 28 0 0 103.7 103.7
BB 13 15 0 0 115.4 115.4
R EHM 2 2 0 0 100.0 100.0
{EH4 7 8 0 0 114.3 114.3
&t 5,791 5,331 0 0 92.1 92.1




THeEERLAR LATMER (F28) REMETENRERR

EH3—2
SM6E4A18~5M7E3 8318
RIERT4 e e
Foana [Wooromn 000 155 om |BLADoTY [BLADsT
HETA & #(N) BHEN) BHEN)
BEHTREM 1,717 1,595 0 0 92.9 92.9
el 1,717 1,595 0 0 92.9 92.9
b A RER 80 78 0 0 97.5 97.5
R HET 47 45 0 0 95.7 95.7
4 R ET 8 8 0 0 100.0 100.0
ZE@AF 11 11 0 0 100.0 100.0
5%+ BT 14 14 0 0 100.0 100.0
shRTER R 1,699 1,595 0 0 93.9 93.9
BhEITTH 1,046 985 0 0 94.2 94.2
2R 191 170 0 0 89.0 89.0
E)H 206 194 0 0 94.2 94.2
75 B EH 6 6 0 0 100.0 100.0
e iy ET 106 107 0 0 100.9 100.9
KESHT 35 30 0 0 85.7 85.7
HEEEH 37 36 0 0 97.3 97.3
R HNET 72 67 0 0 93.1 93.1
I\FEH&REm 1,490 1,429 0 0 95.9 95.9
J\F T 1,490 1,429 0 0 95.9 95.9
=R A RER 573 516 0 0 90.1 90.1
BULHEHT 233 202 0 0 86.7 86.7
= FH 37 36 0 0 97.3 97.3
R FHT 84 75 0 0 89.3 89.3
HFHT 22 22 0 0 100.0 100.0
FE BRET 90 82 0 0 91.1 91.1
B _E T 101 93 0 0 92.1 92.1
AT 6 6 0 0 100.0 100.0
E AT R EFR 588 562 0 0 95.6 95.6
HFRIRET 292 278 0 0 95.2 95.2
DhSH 144 141 0 0 97.9 97.9
84 iR ET 25 24 0 0 96.0 96.0
R T 20 19 0 0 95.0 95.0
5 FH T 63 59 0 0 93.7 93.7
th ;R ET 44 41 0 0 93.2 93.2
LE+=FEF 1,119 987 0 0 88.2 88.2
+FBAH 422 405 0 0 96.0 96.0
=R 302 233 0 0 77.2 77.2
87100 th BT 52 51 0 0 98.1 98.1
asy=1:]] 62 53 0 0 85.5 85.5
AVl 94 74 0 0 78.7 78.7
1 JECHT 17 18 0 0 105.9 105.9
5di) 106 94 0 0 88.7 88.7
7Ny AT 64 59 0 0 92.2 92.2
ODOBREAT 384 363 0 0 94.5 94.5
G Y] 313 291 0 0 93.0 93.0
yNEilil) 31 31 0 0 100.0 100.0
BB 28 29 0 0 103.6 103.6
JEN R ) 4 4 0 0 100.0 100.0
{EH4 8 8 0 0 100.0 100.0
&t 7,650 7,125 0 0 93.1 93.1




